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Information technology and electronics system maintenance Level 1

Q 1) The tri-square, combination square, framing square and bevel set are all/F@iofg an, USR] an, PDHR T
ARSI Ts ¢

1) marking tools/FI=IT &R AT JUHRT]
2) measuring tools/HTI ATl U]
3) clamping tools/GaT ATAT SUHRUT

4) None of these/STH I ?ﬁ% 8l

Q 2) Smallest particle of an element which can take part in any chemical change is know as a/an/fopat

I URadT & HITT A4 9T dd & &9 Bl HUT bl & Y H SH AT g

1) nucleus/THEH

2) atom/UXHIT]
3) proton/@la:f

4) neutron/<ggI
% 3) Resistors that have set resistance, are known as/forT faRiferay = ufarey wifod fosar %, 3% del SIldl

1) fixed resistors/FfEd UfeRIe®
2) variable resistors/TRIAT TfoRIEH

3) thermistors/

4) None of these/3TH T PIg gl

Q 4) When a lead acid battery is in fully charge condition, the color of its positive plate is/ST& GERURE EL) t{ﬁ
TE YT ot RUT F il &, 0 3D TPRAS RS HITT_ Bl

1) brown/¥T
2) dark brown/TTexT +[XT
3) dark grey/TTeX Dl

4) None of these/STH I ?ﬁ% T8l

Q 5) Capacitors which use chemical reactions to store charge are called/PUTYe S 3R TUfed @ & fog
e wffhared & IudT fear ST € 59 FET Il &

1) fixed capacitorsfﬁ'@ﬁ Fofed

2) ceramic capacitors/ &I@ FHORyed

3) electrolytic capacitorsfﬁa\'ﬂ?[ 3ugfey HuRyed
4) parallel plate capacitorsﬂﬂﬂ'iﬂ? e HURyed

Q 6) The circuit is said to be in resonance if the current is with the applied Voltage/q% ﬁ?ﬁa RT D
fegd /e & I ] fobar ST 8 o, uRoy Y ufdeafy & et Sar g

1) in phase/3{dRYT o
2) out of phase/3{ARIT & TG
3) 90° out of phase/START ¥ 90° FTER

4) None of these@?ﬁf I Ebﬁé T'|€3f
%) 7) Direction of rotation of DC motor is determined by@?ﬁ R & 'EI;UT:T o1 fa=m & gr1 Fyffea grar

1) Lenz’s law/cIo1 &1 RIid

2) Coulomb’s law/PTAS & RIGid

3) Fleming’s left-hand rule/TRITHT & STC §1Y &
4) Faraday’s law/TRTS & Rrgid

Q 8) One of the basic requirements of a servomotor is that it must produce high torque at all/ AR ot Helyd
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TSR AT TH I8 & fb 30 R 3 P BT IdTeT BT AT

1) loads/MRT
2) speedsﬂm
3) frequencies/

4) Voltages/(_‘lzl'lﬁ

Q 9) An ammeter is connected in ................. with the circuit element whose current we wish to measure/Udh

TR URUY @ FH ... I 1 81T 8, ST UaTe o) g9 WO 918 §

1) Series/3T0rAY
2) Parallel/ AR
3) Series or parallel/m I JHTAIAR

4) None of theseﬂ:lff I ?ﬁé :lgbf
Q 10) Which of these does not change in a transformer?/s:lﬁ T aﬁ? uRade & :lﬁgfw %?

1) Current/ﬁa\'% YRT
2) Voltage/ﬁ@’% qld

3) Frequency/a'l'@ﬁf

4) all of these/%tl'af g+
Q 11) Miniature circuit breaker(MCB) is a small/¢Ty e Heh (Qtlﬁ)ﬁﬂ) & Bler ?

1) fuse/WIST

2) magnetic switch/JrFHIT RIT

3) electromagnetic switch/ﬁ’c{ﬁﬂw e
4) two way switch/&l TRg &1 Reag

Q 12) C.R.O gives /AR .3MR.3f Iarg

1) actual representation/am% gy

2) visual representation/€Xd ufoey

3) approximate representation/ yfoey
4) incorrect representation, Ty

Q 13) A semiconductor has ............ temperature coefficient of resistance/Udh TS BT UfeRIe®s araHT
UM .......... garg

1) Zero/R[Y
2) Negative/FUTHD
3) Positive/TDPRIHD

4) None of these@?ﬁf I Ebﬁé T'|€3f
Q 14) Bridge rectifier is an alternative for/gﬂ REUE & 1%1? Tdh o %

1) Half wave rectifier/3{ of T TP
2) Full wave rectiﬁer/l{Uf GRIRSEINES
3) Peak rectifier/RRIGR GRNYH

4) None of theseET-Fef I aﬂé 7‘@3[

Q 15) In a pnp transistor, the current carriers are/Udh didt qi SRR ﬁ, ﬁ—c{'gﬁ Udig dlgh g
1) free electrons@a@:{ Qi%a

2) holes/[&%
3) acceptor ions@% ST
4) donor ions/cIdl 3T

Q 16) Zener diodes are also known as/S R SIS B ot hel Sldl %
1) Voltage regulators/ﬁﬂfﬂﬁ ARG
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2) Forward bias diode/31H &1 3R b §U SIS
3) Breakdown diode/¥T SIS

4) None of these/STH I aﬂ‘s‘ T8l

Q 17) The voltage gain in a transistor connected in ................... arrangement is the highest\ ...................

TR H 9[S §U U ¢ifRex H dieesl gf S=ar gl 8

1) common base \ JHI YR
2) common collector \ HT FHaide
3) common emitter \ 3{TH Il D

4) None of these \ LK ﬁ's‘ T8l

Q 18) Which of these power amplifiers has the highest collector efficiency / 90 3 fopq foorelt & fowdRe o
JATH TITGD & I §

1) Class A\ I T

2) Class B \ T &

3) Class C \ T T

4) Class AB \ I QT

Q 19) Device which is used to convert spoken words into digital signals is termed as \ T I ST IUanT
f$foree el &1 e T sl H uRafid fbar Siar § fora & =Y T S S §

1) speaker \ dadl

2) microphone \ AP IBH

3) head phone \ 8 BIF

4) voice-recognition device \ JTdTo q?ﬂ'ﬂef FUDRT

Q20) AMOSFET has ............... terminals \ Uch @W HUN....oo EE aﬁ %

1) Two \ &I

2) Three \ iG]
3) Four \ IR
4) Five \ U@

Q 21) Which of the following is not a characteristics of crystal oscillator? \ Fofafead DI I fa=wan
forted sifdicier &1 78l 52

1) Highly stable with time \ JHY & 1Y AP RR

2) Highly stable with temperature \ dTJHIT & 1Y AP RR

3) Highly selective \ IIAH ITTHD

4) Frequency depends external resistors and capacitors \ H@ﬁ[ EIRRIGREE] 3R e R AR %

Q 22) SMPS are based on the principle \ Wfﬁ'w %I@\‘l TR 311G %

1) Phase control \ Bl mﬁ

2) Integral control \ ua m
3) Chopper \ CAGREI]

4) MOSFET \ AT%h¢

Q 23) With zero volts on both inputs, an OP-amp ideally should have an output \ AGIER! J< WX R dlec & 1Y,
T Nd-u &1 seet fRUfY & . eimseye g age

1) equal to the positive supply voltage \ YHRTHD &T@ Flecs] & IR
2) equal to the negative supply voltage \ ThRIHD G{Tq:ﬁ Jleeol & SRR
3) equal to zero \ ][ & TRIR

4) None of these \ Q:Fﬁ[ I ﬁ_sc Tﬁvp[
Q 24) In Frequency Modulation \TpTehat 1:|V§a'_‘| |

1) Amplitude of the carrier remains same \ dTg b AHTATH JHIT gl g
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2) Frequency of the carrier varies in accordance with the modulating signal \ dle Pl 3 QI%l ﬁl@ﬂ;ﬁ“m Rd &
3) The number of side bands are infinite \ HIE@@?I P =T 3Hd %
4) all of these \ T Tt

Q 25) Standard intermediate frequency used for AM receiver is \ TEH et & ﬁ“l'q JUINT B S gTelt ATFD
Tegadt Mgy §

1) 455 Hz \ 455 Bl

2) 455 KHz \ 455 fbaiigdt

3) 455 MHz \ 455

4) None of these \ Q:FEf ﬁ ﬁs‘ qﬁ
Q 26) Automatic correction of colour error is possible in \ T ﬁi% BT Tdrerd JUR JHT g

1) NTSC \ T &1 oy &t

2) PAL \UTA

3) SECAM \ T3 HUEH

4) None of these \ Q:FE[ i) ﬁ's‘ RG

Q 27) Satellite which relay computer data along with television and radio broadcasts is called \ﬁ%?ﬂg_(f S
FHCR T B TafaerT 3R ST TR & Wiy R BT § I 1 Bl STl §

1) military satellite \ ¥ IUIE

2) weather satellite \ A STIE

3) communication satellite \ IR 3Ude

4) remote sensing satellite \ Rdte IR 3TU"

Q 28) When an input signal 1 is applied to a NOT gate, the output is \ SI& g7YC e | ﬁ:ﬁfﬁ'@maﬂlm
g, T $MTSTYE Biell ©

10
2)1
3) Either O or 1 \TTAT 0T 1

4) None of these \ T QB el

Q 29) A full adder can be made out of \ U U;UTW SR S hell §

1) two half adders \ AR G

2) two half adders and a OR gate \ &l 3 g 3R T AR T
3) two half adders and a NOT gate \ 3l srefaeTe iR TH Hic e
4) three half adders \ T ST

Q 30) The truth table for an S-R flip-flop has how many VALID entries? \ TH-3R foeT9-7aily & T drfereT |
feper=t o vfafdar g2

1
2) 200%
3) 300%
4) 400%

Q 31) A register is defined as \ Ut ISReR P! H TR o mar 8

1) The group of latches for storing one bit of information \ T e SR &I IR H & g SEIE g
2) The group of latches for storing n-bit of information \U- foe SRl B W@T‘f P D ﬁfl'q ﬁ?ﬁ CARSE
3) The group of flip-flops suitable for storing one bit of information \ fOheT-wrATa &1 dHg EINCACHSIEEIN]
TR B & fory Iugad §

4) The group of flip-flops suitable for storing binary information \ CIERH] AT HSRUT & forw SUgad foherT-
AT &1 g

Q 32) In digital logic, a counter is a device which \ fSforea ?ﬁ%ﬁﬁﬁ, B3R Uh IUDBRUI % S
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1) Counts the number of outputs \ em‘c’gff P TS P UM BT §

2) Stores the number of times a particular event or process has occurred \ frdlt faRi ger o ufshar & \?'I'qu%f Gl
T DI TR PAT &

3) Stores the number of times a clock pulse rises and falls/ﬂ@ o RPN FTo= aaﬁ AR FHH HEEakscIEal
THAd PRAT &

4) None of these \ E:Iﬁ q ﬁ's‘ '_‘|759[

Q 33) The PLL device is \ fU@Ud fSarsa 8

1) Feedback system that compares output frequency and input frequency \ Elﬁl'g@ JITe Sit 313cYc &ﬂq% 3R
ZYC 3R P JaT Bl

2) Feedback system that compares output phase and input phase \ Qﬁf@@ JuITelt St 3{13cYc Baciting ERi Tl
B! g AT §

3) Linear system that compares output resistance and input resistance \ YR gormeft o 3f13cYc gfaRIY 3R
TYC URIY & Jo1 Bl §

4) Non Linear system that compares output current and input current \ R g gormeft S 3{I3cYc Udlg 3R
Y TATE ! o IRl §

Q 34) Which of the following statement is correct?@qﬁ I ﬁ? gl hYdq ﬂﬁf %?

1) 1 KB = 1024 bytes/1 dail= 1024 facy

2) 1 MB=2048 bytes/1 THdl= 2048facq

3) 1 MB = 1000 kilobytes/1 THalT = 1000 fdhenfaca
4) 1 KB = 1000 bytes/Iddt = 1000facd

Q 35) ALU stands for/JUeg &1 Hdqd e

1) Arithmetic logic upgrade/\’riﬁﬂm IS TS

2) Arithmetic logic unsigned/&lﬁm GUSCERRIES]
3) Arithmetic local unsigned/3RUARH AlHd RS
4) Arithmetic logic unit/ sfyrfes affors {&I’C’

Q 36) The FAT is used much as a/aﬁmmmﬁmlal %Wﬁfﬂ?ﬂ%

1) stack \ XD

2) linked list \ foferg fere
3) data \ {d|

4) pointer \ tﬁ%??

Q 37) Which command is used to copy files?/thIgcl Pl BT B B ﬁ’lﬁ frg fawea &1 3@'5”?[ Eﬂ?ﬂ %‘?
1) Copy/av—l'vlff

2) Diskcopy

3) Type/cIgU

4) all of these/STH I T+t

Q 38) Which of these windows does not have START button@qﬁ T fpyg fdsa A TS pTded T&ﬁfﬂ?ﬂ %

1) Windows Vista/fdSIoT faver
2) Windows 7/f[d8IsT 7

3) Windows g/fdsIT 8

4) None of theseﬁ_"lﬁ ﬁaﬂé:ﬁ){

Q 39) Computer expansion slots connects interface cards to the \W EW&QFT e E?TW FIS oI [T
B

1) ports/m@
2) peripheral devices \ HBT JUDUT
3) mother board
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4) system bus/Req a9

Q 40) Which of these devices can store large amounts of data?E_"Iﬁ I ﬁ:[ T IUBHT HYH AT gt SeT

P GUfRd BT 82

1) Floppy Disk/FAd! f&<m

2) Hard Disk/8TS &%

3) CDROM/ITSRA

4) None of these@tlﬁ I 553[% :rE?f

Q 41) Monitor design ensures that \ Affaer feu ol ﬁﬁ'@ﬁ Dl % &

1) only one process can be active at a time within the monitor \ Al & HiaR Uh JHY o had Th ufsear B‘T
Tiohd 81wl §

2) number of processes can be active at a time \ 3P Ufhard Th JHY A gfesg E?[ TgHhdt %

3) the queue has only one process in it at a time \ PdRR T U 90T § ohad U Ulohd %

4) particular processes can be active at a time \ foxiy EI'@?TITQ T JHT o Tfesy E?f THhdt %

Q 42) Printer in which printing head and paper is forced together to form letters is called \ tiex forH flifd gs
3R TR &1 U 1Y FeYdD A ST § SHERY Bl §11 STl §, B bl offdll ©

1) impact printer \ ¥9g flieR

2) non impact printer \ 3HYUg fliex
3) page printers \ U fifex

4) line printers \ <Ig fiiex

Q43) refers to any type of application or presentation that involves more than one type of media,

such as text, graphics, video, animation, and sound \ fdt i veR & Q'@Iaﬂzﬂ q1 Elﬁﬁf Ca|
Teffa g fored te 9 8if g

1) An executable file \ Tdh e arg BIgd
2) Desktop publishing \ SIHCIT UHTRH
3) Multimedia \

4) Hypertext \ BT3URCRT

Q 44) Which data communication method is used to send data over a serial communication link?/sh THeh AR

foip IR ST o & forw oo Tt Se1 WaR fAfY &1 Sui fovan Sirar g2

1) simplexﬁlmaaﬂ
2) half duplex/3itf S

3) full duplex/qof ST
4) all of theseﬁ'—ﬁlﬁ It

Q 45) Frames from one LAN can be transmitted to another LAN via the device/@T & TH A d TRY Acddh

Eall farsa & ArenH A {5t 3 did TR Sead | Ud fpar s adr g

1) Router/RI$H X
2) Bridge/fsst
3) Repeater/ IgieR

4) Modem/ATSH

Q 46) The communication protocol used by internet is/S e¥e gRT IUANT ford O aTdl TR o g

1) WWW/SSISSIS &
2) HTTP/TACIEdT
3) TCP/IP/AYIdY/ 3t

4) FTP/UGEId

Q 47) SMTP connections secured by SSL are known as/THUITA Ww&lﬁ QHQHE‘ 0 HaRD!
& 0 H ST o1l 8
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1) SMTPS/THUHEIUTH

2) SSMTP/THUHUHCIT!

3) SNMP/THUATHY!

4) None of theseﬁ'z_"l'af I aﬂé :rsﬁ

Q 48) Which of these describes e-commerce@ﬁ I ﬁ:f a1 é-ﬁﬂ'@f T qUI BT %

1) sale of goods/aﬁ\}ﬁ CAKERIl

2) doing business/TUR AT

3) doing business electronicallym Y Y I HAT
4) all of theseET-Fef T gt

Q 49) To obtain a high value of capacitance, the permittivity of dielectric medium should be

\
FHORIET & I TH $I U I & oY, STe3aifaesd Aeqd & winfefad eI

1) Low\fg
2) Zero\ [
3) High \3=

4) Unity\3®T8
Q 50) What is called the frequency in AC operation?\Q?ﬁ gRETe | &rrqﬁ-r WT?‘ﬁ%?

1) No of (+)ve quadrature made per second\Ufd "o s AT T CASEN P G=AT
2) No. of cycles made per second\Ufd Tavg fAfHfd =ehi &t e

3) No. of (-) ve quadrature made per second\Ufd Tovs fAfHfa Homeres EhI:'itR CHESEE]
4) No. of wave made per second\Ufd Hars fAfifa ag &t e

Q 51) Magnetism of a magnet can be destroyed by \THh W & W Eal
TR I Y fopam o Wepa

1) Heating\dTd ydifed

2) Hammering\d&h U

3) By inductive action of another magnet\w N  Juure fosar
4) All of these\d T

Q 52) Which of the following is NOT an Output device?\ FEIREd & ¥ &9 T 33eye 37 &l &2

1) Coder\ BT

2) Speech Synthesizer\ T REeR

3) Visual Display Unit\ fagsrd f&$¥wt gfie
4) Optical Mark Reader\ AHA T e

Q 53) Which of the following windings are necessary in case of all D.C. machines?\ g+ S . 7=l & ded A

g H T B a1 e srawus g2

1) Closed winding\GaIs STSf&T

2) Lap Winding\a'q AEfET

3) Wave winding\aa AEfET

4) Open type Winding\@ UPR &I A&t

Q 54) A D.C. series motor is accidentally connected to single phase A.C. supply voltage. The torque produced

will be \SINTRI T 1.4, WS & HieR & Uohd ol aTdl TAT, Y[ diecsl & A1 it fear
ST 8 | ITF Tl il

1) pulsating and unidirectional\TEIET 3R UPhd [
2) steady and unidirectional\ddd 3R THhd [
3) oscillating\

4) None of these\STH T B8 g1

Q 55) Direction of rotation of DC motor is reversed by \SIE AR & YA Pt gz &1 g gRT
3 foran S B |

10.6.60.71:8080/gbexcel/admin/Download.aspx?id=17 7123



7/26/2019 10.6.60.71:8080/gbexcel/admin/Download.aspx?id=17

1) reversing supply connectlon\GiTlI% FHAIRA DI I IR

2) adding resistance to field circuit\fthes TRTY H HieRIy® Gﬁ@m

3) interchanging armature and field connection\3THER 3R ﬁ??b’ ROy B MUY T daddh
4) reversing armature connection or field connection\3THR T fihes &1 3T | Sgad

Q 56) Which of the DC motor uses ﬂywheel?\m St AR ﬁm-@ﬁa D FTAHT RIS %‘?

1) shunt motors\ i Hiex
2) cumulatively compound motorFadl T HieR
3) differently compared motor\GYd ¥ =Y ) LNEIGEE qieR

4) series motor\ el
Q 57) The frequency of a voltage at the secondary winding of transformer is \m T fgdla®
RS W diees &t SMgh Eaik

1) greater than the primary Winding\tﬂm CIHEU q 3ffde
2) less than the primary winding\mm TEETI HH
3) equal to primary winding\mm TEFET S THH

4) None of these\ZTH J PIg gl

Q 58) In a transformer zero voltage regulation is achieved at a load power factor which is \foedt

THTIR H L e AT B s TR SR A U fbar s Ibaie, st gdrel

1) zero\ YA

2) unity\

3) lagglng\mw
4) leadmg\?’m%"'f

Q 59) The use of higher flux density in the transformer design \m SR | I HAH T
2l

1) reduce the weigh per KvVA\Ufd a)_Cﬂ'Q ded B HH HIAT %I

2) increase the weigh per KVAWUa ﬁq de- A dedl %

3) has no relation with the weight of transfonner\m & IO & IqIY ERER ﬁ_sc Y '_-I_sgffh?ﬂ %
4) None of these\ET-I'Ef I aﬂ‘s‘ 7‘@3[

Q 60) In which transformer, the tertiary winding is used\fd m ﬁ, qsﬂm‘:ﬁ & o1 yanT fovan Srar
9

1) star-star\\CR-¥CR

2) star-delta\RCR-geeT
3) delta-delta\SeeTgeeT
4) delta-star\ SeCT- TR

Q 61) In an auto transformer, power is transferred through \Uh TaTerd E’WW ), 3t &1
3Rl % 1o § fapT ST 31

1) conduction process only\m H SR Uihdl gRI
2) induction process only\m ZSHRM Ufehdl gRT
3) Both (A) and (B)\A 3TR B &I

4) None of these\STH T B g

Q 62) Through which device the main components of the computer communicate with each other\[H T IUHRTT
& 1Y Y SR &1 T Jdedh Ud AR & 1Y Jarg Ju0) FHRd1 g 2

1) keyboard\ﬁ EIE]

2) system bus\ReHd a9
3) monitor\HI=eR

4) memory\w
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Q 63) Which of the following is the primary function of an oscillator ? e T O T Qfe w1 oS Rl 0

1) produces sinusoidal oscillations\dg TG g GIa Sdd Hal %

2) generates non sinusoidal waveforms\dg TR 1919 99 BT ﬁﬁlﬂ Hdl %

3) generate sustained oscﬂlatlons at a constant amplitude and specific frequency\ddd TATH 3R fafery &Wﬁ[
IR RO Srass g giord e g

4) None of these\g_"lﬁ I aﬂé :léT

Q 64) A diode (p-n junction) has two terminals. The p-terminal is known as U SIS (p-n SIIRI) 2|
&l i 814 8 p-n AT B gl

1) anode\Q'_‘i S
2) cathode\PUTS
3) either anode or cathode\dT dis arar FUrs

4) None of these\gTH DIS Te1

Q 65) For audio frequency applications, the popular oscillator used is \3fif&ar \3ﬂ§ﬁl Hﬂqth"h & forg,
e detaafsm . Rl

1) wien bridge oscillator\[auA fas gifers
2) hartley oscillator\B'I_cfa qifes

3) crystal oscillator\foheed alfe

4) phase shift oscillator\Urof RTUE gIfer

Q 66) How many entries will be in the truth table of a 3 input NAND gate"\?‘ﬂ:f ER e dTdl NAND 7E & sy T d
H fopait ufafdai gl

1)3\3
2)6\6
3) 8\8
4)9\9

Q 67) In modern days computers, which storage device possess the maximum storage capacity?\ I &

S B, 5 g TE 35 3 RIBaH TUEH & gl 82

1) CD-RW
2) RAMRH

3) Hard Disk\GTS f&X&

4) Floppy Disk\FAdT fotm

Q 68) Which of these sets of logic gates are designated as universal gates?\m T & _{'Tﬁ J DY I
g e & ®q TR g 2

1) NOR, NAND

2) XOR, NOR, NAND
3) OR, NOT, AND

4) NOR, NAND, XNOR

Q 69) Stack is also known as \KH DI T Y ot ST ST %I

1) FIFO memory\FIFO HHRY
2) Flash memory\q%-‘z[ Rt
3) LIFO memory\LIFO HHRT
4) LILO memory\LILO HHRT

Q 70) Why small bubble is given on the output of the NAND gate symbol?\NAND e Riga o 3f 3JCYc W Blc
g 1 e ST 82

1) Tri-state\?l"&'—?%‘cr

2) Output is inverted\3T3€YC ! GaC fear STl

3) Open collector output\¢ldeX 3T3CYc CARGINIRSIEI]
4) None of these\stlﬁ ﬁ aﬂ% TEFT
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Q 71)%Which of the following memories need refresh?\ﬁ'ﬁ T T fo Aafvs o by m RIEEAICESG]
g g2

1) SRAM
2) DRAM

3) ROM

4) All of these\d T+t

Q 72) The momentary change in the output/state of the flip-flops is known as \TRIY-TTg & 3 Jcyqc/
fRufr o gffores uRac &1 BACIERCIR K]

1) Tri-state\EA'I_s'-@_cr

2) Unstable state\ TR fRufq
3) Inverted\

4) Trigger\ﬁj'l?

Q 73) Which of the following is NOT an example of Application Software?\ FEIRIT ¥ ¥ FT Twelioh ==
I TR BT U IST80 8] 82

1) PaintUc

2) Mozilla Firefox\ AT HIARBIa
3) MS-Office\MS 3{Tth

4) Linux\

Q 74) AM and FM are examples of conversion.\UTH GﬁT ThUH uRadT & RIARRY %I

1) Digital to digital\f$fored g fefsrea
2) Digital to analog\%ﬁﬁﬁ < QAT
3) Analog to analog\Q:I'IT‘IﬁT < @
4) Analog to digital\QTﬂTﬁT < fSforea

Q 75) The gamma of the picture tube is \forddt fUa=R <gd dT MHT gIdT %I

1) 0.4545\0.4545
2) 1\

3) 1.4\1.4
42222

Q 76) What could cause a fixed desk error ? \frRs S R TR Y I E?f Hqhdl %‘?

1) No-CD installed\®1§ CD IS
2) Bad ram\SS
3) Slow processor\‘iﬁtﬂ TR

4) Incorrect CMOS settings\TTcid CMOS qfc

Q 77) With respect to a network interface card, the term 10/100 refers to \ Jead TRBY FIS &
T H 10/100 UG AT B |

1) Protocol speed\m T

2) A fiber speed\Udh ThIgaX Tfa

3) Megabits per seconds\TTETSE Ufd Y

4) Minimum and maximum server speed\_J7dH IR 3ifrman gk

Q 78) Which motherboard form factor uses one 20 pin connector ? \D I T HeR SIS BT thaex g 20 U
FIdE BT T AT 67

1) ATX
2) ATX

3) BABY AT

4y All of these\d Tt
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Q 79) In laser printer technology, what happens during the conditioning stage?\aaq fliex Urenfirest ﬁ, AR
TRU1 P GR T8Il &2

1) The corona wire places a uniform positive charge on the paper\?ﬁﬂ:ﬂ AR, SIS IR Th JHF YATHD
TR XEdT &

2) A uniform negative charge is placed on the photosensitive drum\W el GRIfed GH W Udh JHTT BUMTHD
STAYT XEdl &

3) A uniform negative charge is placed on the toner\CIFR TR T TH BUNTHS A 3G %

4) All of these\T Tt

Q 80) You have a PC with no video. Which of the following is LEAST likely to be causing the problem?\\’rm
U T U 8 orad difed 781 &, 399 A 11 Sa HH YT BT RGN 2

1) Defective RAM (bank zero) \W%ﬂ (S )
BIEEZIEIREN

2) Defective microprocessor\
3) Crashed hard drive\ H BTSp gigd
4) Loose video card\¢]ST difsa wre

Q 81) Which of the following sections of the menu bar, one can find in MS-Word 2007 but not in MS-Excel
20077\ B §R &1 fAEfRad & ¥ $1F91 W TATY-aS 2007 H < U SITdT § g THTE-TRd 2007 & T8
UM STl 8?2

1) Mailings\ Afei g
2) Page Layout\a\_ﬂ NER
3) Data\SIc

4) Review\Reg

is a device that is used to segment networks into LAN segments.\ Udh ﬁﬂT

W%Gﬁﬁ?ﬂ%ﬁﬁmﬁmNWﬁ%mﬁﬁWéﬂT%

1) Hub\ed

2) Switch\Rd

3) Ethernet Card\§2Re|E' m‘s‘
4) Repeater\ﬁ‘cﬁeq

Q 83) The shortcut key used to insert table in a electronic spreadsheet is ATdh 3@% qreefie
T qrfcren! IHfid $HRam & g ﬁmﬁwﬁ%wﬁwﬂmw%

1) Shift+T
2) Ctrl+T
3) Ctrl+B
4) Shift+B

Q 84) What tool is used for holding, bending and stretching electronic components?/ E@Im ISR BT
Th$, FHM SR Wi & T fobd Iua0T o1 ITANT {363 SI1ell 52

1) Screw driver/0d®Hd

2) Long nose/@I=T :ﬁﬁf

3) Soldering iron/ATS AT SRA
4) Side Cutter/HIgS X

Q 85) Identify the type of fire extinguisher from the given picture./ faU T fe &t qEa SRS 39 & THR
CICGEIRERY
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1) Foam Extinguisher/ B SRR
2) Carbon Dioxide (CO2) Extinguisher/ BTe SIZSRIZS (CO2) JIRCTIATR
3) Dry Powder Extinguisher@g Ur3sy

4) Wet Chemical Extinguisher/d€ B o d SIRCTIARR
Q 86) Which is the unit of charge?/il'l\_rf &I Wl_sc T %?

1) Vol/alee
2) Watt/dlc
3) Ampere/Q'JIﬂTIT
4) Coulomb/g T+

Q 87) Which cell has the reversible chemical reaction?/ g 9o # ufaadf Tt ufafear 6 5 %?

1) Mercury oxide/ Iﬁ{:f\ﬁ SIIGRIES)
2) Lead acid.@gm

3) Silver oxide./RTeaR 3TRIES

4) Carbon Zine./®BTe foidh

Q 88) The value of power factor for a purely inductive circuit is/Jh ﬁ'{l@ ¥U Y 33faeq gfbe & foQ graR
HIR BT §

1) between 0 to 1/ 091 H
21

3)0

4)between -1 to 1/-1 9 1 & dF

Q 89) A three-point starter is used for/?ﬁ:f-ﬁ—g' WIER BT IGANT & for fovan Stran %I

1) DC series motor/S Gl PICK]l HieR
2) DC shunt motor/Sl ]IE ACY

3) Induction motor/3 SR e

4) servo motor/Fal HeX

Q 90) An ideal ammeter should have resistance. /Uh 3IGR 3R # ufaRiy Eﬁ:ﬂ T I%Q [

1) zero/R[H

2) high/ 3=l

3) infinite/3fd

4) very low/3{dd &HH

Q 91) Which winding of transformer has more number of turns?/ m 3! fpg agfén o W Dt T
3ifYes gt 82

1) Primary winding/YT Yty arefet

2) Low voltage w1nd1ng/ﬁ|’§ diecs ?ﬂsﬁcm
3) High voltage winding/3= dlecol aRfST
4) Secondary wmdlng/@?ﬂw CIEE]

Q 92) Induction type single phase energy meters measure electric energy in/ TRV THR B THd ol Sl HIe
HfiqgaSef®al  HAmd €

1) kW
2) Wh
3) kWh
4) VAR

Q 93) In CRO, the time base controls are set at 5 ms/cm. The voltage gain is set at 2 V/cm. Find the peak
magnitude and frequency of the AC voltage in the fig/ ramsi 'ﬁ[’ Y TR 701 5 THEY / JH R I
foar T B | diees @ 2 dlee / I WY
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1) 12.8 V, 714 Hz/12.8 AT, 714 §Eol
2) 6.4V, 714 Hz/ 6.4 AT, 714 §eol
3) 3.8V, 307 Hz/3.8 AIeE, 307 8¢
4)3.8V, 714 Hz/3.8 AT, 714 §eol

Q 94) What type of material is obtained when an intrinsic semiconductor is doped with pentavalent impurity?/ ST

TS SfidRe fefarads & Urd SSTdhaT Tt Sl & I1 fHarar oirar 8, at fd TR &1 areeht ured gt

?

1) N-type semiconductor/ T7-Yb R ERERCINED
2) P-type semiconductor/ H.UsR & srefaras
3) Insulator/ Srarrelt

4) Conductor/dIcTh

Q 95) What is the smallest and largest font size available in Font Size tool on formatting toolbar?/ BT cddR
R I e ¢ H SUA WI< BT T BICT 3R T TT HHR B T 82

1) 6 and 56/6 3R 56
2) 8 and 72 /8 3R 72
3) 8 and 64 /8 3R 64
4) 12 and 72/12 3R 72

Q 96) Which of the following is valid for both P-N-P as well as N-P-N transistor?/ 375 § @I 9T P-N-P 3R N-

P-N I CiforeR! & fore o 82

1) The emitter injects holes into the base regionm YR &F & &G B adl %

2) The EB junction is forward biased for active operation/ éabf W Tfehy T & ﬁ‘ﬂ:{ U'TVRG?E EIRES] @T‘IT %
3) The electrons are the minority carriers in the base region/ 3TYR gﬁ | sﬁafrrr TTAIRCt W%

4) When a biased in the active region, current flows into their emitter terminal/ ST IR R EiCal Eﬂ?ﬂ % Gl

I Ieasiep efifiel A fiegd yRT yafed gl &

Q 97) A Zener diode utilises characteristic for voltage regulation/ Ydh SI-R SIS dlecs [GUEWLI
Ffw_ oo SmEm R el

1) Forward/3{RH

2) Reverse/3hH

3) Both Forward & Reverse/alH1 33 3R IepH
4) negative AC V-I/ABRIA® T al-1

Q 98) The leakage current in CE arrangement is that in CB arrangement. /?ﬂ% AT H ﬁ'?{gf‘[ YT H
feura, el cmawi # A @ gl

1) more than/31feIdH
2) less than/ H

3) the same as/IHIT
4) double

Q 99) In the give% figure, (C) represents amplifier. / fau Y G| ﬁ, © TR BT
ERGIN]

™,
.
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1) Class /AT T

2) Class B/@¥ &t

3) Class /i dt

4) Class AB/T T&lt

Q 100) Computer microphone converts audio signals into the/ W P ARHIGA sl Ry &
# uRafid axar g

1) electrical waves/ﬁﬂ\’ﬂ?{ a

2) electromagnetic waves/ ﬁ@w R
3) digital signals/%ﬁi?ﬁ Tbal

4) analog signals/quaV‘ Tl

Q 101) In order to prevent distortion in the output signal after amplification, the input signal must be/ ygdT &

1< 3MT3Ieye et § fasfa &1 A & firg, 377qe R gHT TfRT|

1) Higher than the positive saturation level of the amplifier/ Uatds & THRIAD m TR Y HAH
2) Must lie with the negative and the positive saturation level of the amplifier/ Tatd & THRIAD 3R
IHRIAD Gt TR R R g1 =fee

3) Lower than the negative saturation level of the amplifier/ Tatis & THRIAD ﬂ?ﬂﬁf TR HH
4) Both higher than the positive saturation level of the amplifier and lower than the negative saturation level of the

amplifier/ G| HaHH & FHRTAD U WR U 31fAH SR THAHRR & THRIAS At wWR I
Q 102) SMPS is used for/THUHUTY BT ITGANT ¥ forg far S g |

1) obtaining controlled ac power supply/ [BRIEGASI] ﬁ?ﬂﬁ GH'@ T R
2) switching from one source to another/ T Hid J @3{ WR Sal-gaal HA
3) obtaining controlled dc power supply/ﬁﬂﬁa fSiKsil ﬁ’d’gﬁ &ﬂ'{ﬁ T A
4) storage of dc power/@ﬁ@ Solf & YR

Q 103) In ideal leferentlal Amplifier, if same signal is given to both in uts then output will be/ 3TGR

TSR THellBRR H, 3G HI S9! 31 U g Hdbd 1631 ST &, AT S3TYe =l

1) Same as input/ T4 & JHH

2) Half the input/214c T 31

3) zerro/R[

4) Double the input/TYc bl aﬂ:ﬂ

Q 104) Modulation is done in/ H\I%iﬁ?ﬂ T fparSrar g

1) transmitter@"mjﬂa

2) receiver/RETAR

3) telephone only/ﬁld? TomE

4) Between transmitter and receiver@m'ﬁﬁa IR iR & s

Q 105) Standard intermediate frequency used for AM receiver is/ TTH EGIERG forg ITIIT B o aTel AFS
Tead! g g gl

1) 455 Hz/ 455 8o
2) 455 KHz/455 fpat geor
3) 455 MHz/455 TgeS

4) 455 GHz/455
Q 106) A transponder is a satellite equipment which/ Tdh EA'HC.I 18X Uh UUG IUDHUT g

1) receives a signal from Earth station and amphﬁes/q?-é"f WY Y Yobd U Bl % G?R 3T Haffq sar %
2) changes the frequency of the received signal/MTtI Tobd B GﬂQﬁ'T P Fgad! %
3) retransmits the received signal/HTtd Tohd & fby J T=aid Hear %

4) receives a signal from Earth station, changes the frequency of the received signal, amplifies it and retransmits

the received signal. QWQWWW% Wmﬁm% @wﬁam%aﬁ?@
ﬁﬂﬁwﬁﬁmﬂ%
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Q 107) Which gate corresponds to this truth table? / EaRksIKIc ERNE GG BRI RGI]] %?
A B |Y

1 1]
0 1
0 1

olo|r|k

1) NAND
2) XOR
3) OR

4) NOR

Q 108) Which gate corresponds to this truth table? / CARRSIRIES ER RS INCARR: GREIG | %?

1) A AND B
2) A XOR B
3) AORB
4) ANOR B

Q 109) A register is defined as/ Ydh IR & &4 T g fohar Sirar %I

1) The group of latches for storing one bit of information/Udh dIgC AT > ﬂ'ﬂ’s’ & ﬁ‘l'q ?%'CI}[ CARIE

2) The group of latches for storing n-bit of information/U ST T & TG & forg ?%’Ch CARL

3) The group of flip-flops suitable for storing one bit of information/ Udh dIgC AT & TUE & forg SUgad
T o1 g

4) The group of flip-flops suitable for storing binary information/ CIESR] BEEL & IUE & fag SUgad feTy-
AT &1 g

Q 110) Most seven-segment displays are driven with an encoder that converts a binary encoded nibble into a/
ng@%@wmﬁwﬁaaﬁéeﬁwmmﬁwﬁw |
uRafdd #d 8|

1) Binary number/ CIERREEE?)
2) Numeric number/IHTHD AT
3) Hexadecimal number@?ﬂ'léﬁmﬁ A

4) Octal number/3¥PH AT

Q 111) Which kind of device, a keyboard is/T BIaTS [y dig HI fSazq 82

1) Input/gT9C

2) Output/HT3cYc

3) Word processingﬂé TR
4) intemet@?ﬁ?

Q 112) ALU (Arithmetic and Logic Unit ) of 8085 microprocessor consists of/ 8085 Iﬂ%ﬁuﬁmﬁ Uy
(3RyAfe® T difvrmd gfHc)

1) Accumulator, temporary register, arithmetic and logic circuits/ TG, ST W, fyafesd ik
Qo wfde

2) Accumulator, arithmetic, logic circuits and five ﬂagsm, 31'?\"@%, difore gfdhe GﬁT LIE) U%TT

3) Accumulator, arithmetic and logic circuits/ A ®, fyAfes ik dffore e

4) Accumulator, temporary register, arithmetic, logic circuits and five flags/ D, ST W, &ﬁm,
qrores Ffdhe 3R e T

Q 113) Ctrl + O keys are used by user to/SUTRTHAT GRT Ctrl + O HIN BT IUTRT %ﬁf@ﬁﬂﬂ?ﬂ?ﬂ%l
1) extract a file/ ERIRIENEARRCANE
2) open option/3N0 faded

3) edit a file/TT3A I TST HIA
4) open a file/thTgcl CARCINR]
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Q 114) If the displayed system time and date is wrong, you can reset it usingﬂﬁ e &1 UeRid g SR
EUCRIGE AR BT ITUN PP 34 T PR I g |

1) Write/RTgC
2) Calendar/PaIex

3) Write file/RTSC WoIgd
4) Control panel/ ﬁﬁ' L]

Q 115) Hard discs, fixed head discs, floppy discs and optical discs all are types of/BTS &, fPRsgS &,
TR} fewep SR Sifoare fwes TR &

1) direct access storage/MI& ﬁa@ﬂ TR

2) serial access storage@ﬁqa m@i\_ﬂ

3) volatile access storage/\?‘l'@ﬂ ﬁa@ﬂ TR

4) parrallel access storage/IHTTR TR XS

Q 116) In the given figure, B represents of computer. / feumu R A, &t HICR BT g=Ifdr %I

1) Serial port@ﬁ"qa e
2) VGA port/dIoiig Uié
3) Microphonefqﬁ?iﬁlﬁ:f
4) USB port/q;Qﬂ_qpf are

Q 117) What printer cable uses a male DB-25 connector to attach to the PC?/ 5T UBR & fiiex Saa oI Uit &
G PR & [T A Sleit-25 Faex BT SUANT {1 SIell g2

1) Serial/ARTd
2) Parallel/ARTA

3) USB/JUHs!
4) Network/Aedd

Q 118) What connection type allows a printer to connect to an RJ-45 connector?/[Hd UHR BT HaRH forai!
fiiex BT 3RW-45 Hdex Y FAU HA BT AR T 82

1) Parallel/SRW
2) SCSI/TTHTT3TE

3) USB/QuHs!
4) Network/~ead

Q 119) In the given picture, LAN is /U gU f & LAN gl
-| -1 .,'-.—F ‘ . ‘I__:_ll ] _:_13.-_ N

il

L ' J

1) denoted by A/ A gIRT fafdy
2) denoted by B/B gRRT fAfdy
3) denoted by C/C gIRT

4) not shown /MefRid gl §
Q 120) HTTP is protocol./ TACIEYT PIEEIEE]
1) application layer/ql?ﬁmq TR

2) transport layer/¢

3) network layer/qfa?% W
4) software layerwam TR

Q 121) Name the button in the picture? EER:| i%q U §cH bl AMH ddist|
al_a/ &
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1) Font Color [BIT HER

2) Fill Color /fthd ®eR

3) Page Color/UST HR

4) Highlighter tool/8TRclIgCX gl

Level 1 Answer key
1(\?(l)llestion Option 1(3(1)1.estion Option 1(3(1)1‘esti0n Option 1(\?(1)1‘estion Option 1(3(1)1‘esti0n Option
1 2 31 4 61 3 91 3 121 4
2 2 32 2 62 1 92 3
3 1 33 2 63 3 93 2
4 2 34 1 64 1 94 2
5 3 35 4 65 1 95 2
6 1 36 2 66 3 96 2
7 3 37 1 67 3 97 2
8 2 38 3 68 1 98 1
9 1 39 3 69 3 99 2
10 3 40 2 70 2 100 2
11 3 41 1 71 2 101 2
12 2 42 1 72 4 102 3
13 2 43 3 73 4 103 3
14 2 44 3 74 3 104 1
15 2 45 2 75 4 105 2
16 3 46 3 76 4 106 4
17 3 47 1 77 3 107 1
18 3 48 3 78 1 108 2
19 2 49 3 79 2 109 4
20 2 50 2 80 3 110 2
21 4 51 4 81 1 111 1
22 3 52 4 82 2 112 4
23 3 53 1 83 2 113 4
24 4 54 1 84 2 114 4
25 2 55 4 85 2 115 1
26 2 56 2 86 4 116 1
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21 3 5/ 3 8/ Z 1/ 2
28 1 58 4 88 3 118 4
29 2 59 1 89 2 119 2
30 3 60 1 90 1 120 1

Information technology and electronics system maintenance Level 2

Q 1) Which of the following retains the information it’s storing when the power to the system is turned off? /

Red 31 UraR d¢ 81 o1 R 1 99 & A 1 JUEd STHeRI &1 &1 R 1@dT 82
1) CPU /AUy

2) ROMRH
3) RAMRH

4) DIMM/S1ATSTHTH
Q 2) BIOS is used for/aE3NTY BT SEHTA & fugar g

1) Updating system information on network/Aeadh TR RIeH Bt STHGING] Bl SIS HIAT
2) Loading operating system/G'ﬁq:Q'%T Red &1 dle &1

3) It helps in routing \ Ig ST T Aeg a1 g

4) It take inputs from keywords and other devices / Ig PITS 3R 3T IUBHN J g19c AT E

Q 3) The four bulbs of 40 W each are connected in series with a battery across them, which of the following

statement is true?\40 AT & IR Feall Bl Th SR H 91 & 1Y S8 & 91, 9 T I H19 11 faavor 9t 3

1) The current through each bulb is same\U® Fed H YRT IHH 8idT 8

2) The voltage across each bulb is not same\UA® Fed H giecs] A 6l glaT 8 |

3) The power dissipation in each bulb is not same\TAH ded H IS &7 THH T8 gId1 g
4) None of these\%tl'af I aﬁé =|%°r

Q 4) Atoms with %ewer than 4 valence electrons are \4 ¥ Y HUISH &HT ITdt oiag = arell IRATY]
|

1) Insulator\@dTTH
2) Semi conductor\3{ UEINCY

3) Conductor\dTcich

4) None of these\g_"l'af I aﬂé T@
Q 5) Which motor cannot be started on no load\fF g UHR & Hiex B! fordt s IR I v_‘|€-'T\_Y|T qhdl %?

1) Shunt motors\ T Aed
2) Series motors\*cll e

3) Cumulative compound motor\ Tl RAE AR
4) Both (B) and (C)\B 3R C &Il

Q 6) The noise resulting from vibrations of lamination set by magnetic forces, is termed as .\W

fgaal grT Ry A=A & $ua Q Iad @ ol CASRCIGIRCT

1) magnetostriction\ﬂaaﬁ'q fa=gur
2) boo\§_

3) hum\gH

4) zoom\S[H

Q 7) In a three phase star-delta transformer, what is the angle difference between primary and secondary phase

%oltage?\W?ﬁqwaTaW-gﬁTmﬁWWWWWW%@HWWW@T‘H
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1) star side lags by -30 degree\¥'CR ¥I%S -30 ISR RG]] %
2) star side lags by 30 degree\¥%¢R IS S 30 St T A e %

3) delta side lags by -30 degree\@:ﬂ qgs -30 FSh § A Hean %
4) delta side lags by 30 degree\Seel A8 30 fSM A AT BT

Q 8) The power factor will be leading in case of \ fRufq o TR thaex aifST e |

1) induction heating\§ SR feci

2) resistance heating \ofeRieft fgetm

3) dielectric heating\gl_sggaw %_Cﬁ"[

4) electric arc heating\m 3 fgetm

Q 9) Which of the following memory is the largest?\ fFafafed o 9 S HgdH %?

1) Peta Byte\a_c"la'l_sﬂ_cf
2) Tera Byte\é?lalﬁa
3) Mega Byte\

4) Giga Byte\TITIaTSC

(%) 10) A digital circuit %Ehat can store one bit is a \Uh fefSred ufvay s TUdh foe o1 TR B gawar
,dg \

1) XOR gate\XOR ¢
2) Flip -flop\{TeTg-oATg
3) Register\ﬂ@@?

4) Gate\l[©
Q 11) A half adder is a circuit\USH 3¢ AIoidh gRaY BT B

1) Combinational \TaeH

2) Sequential\3JshTHPH

3) Both (A) and (B)\ A 3fR B &I
4) None of these\E_"I'af q ?ﬁ_g T‘|?3[

Q 12) A small circle or dot on top of an IC represents \IC & HIR TH BleT gd 3Ydr 1%!?;;
ERSISIG]

1) Pin2\fT 2
2) Pin13\0F 13
3) Pin14\fU 14
4) Pin 1\ 1

Q 13) Which of the following speeds up the disk by rearranging the files and free space in the computer?\

FafeiRed § O H1F $oeR ¥ wI3al Td Jad W B ey IR & (Wb B 1110 &I 9g1a1 82
1) Disk Defragmentor\%ww

2) Text Editor\¢eRe T&ex

3) Backup Utility\ S 310 gfeferdt

4) Compression Utility\ uieT w

Q14) inserts a hyperlink in an Excel document.\ ol TR Siagdc
 grewRicier Aftferd HRard g

1) Ctr+K

2) Alt+H

3) Ctrl+H

4) AltHK

Q 15) Most PCs give a single beep on boot up to indicate they are OK hardware wise. You boot your PC and don’t
get a beep. What should you check first?\ AT TIRIT gc 34 & Iy T Uhd &Y DI TGS ol %, EIEGIGI
% TSR TG B 1 3T 3u= Gt I g

10.6.60.71:8080/gbexcel/admin/Download.aspx?id=17 19/23



7/26/2019 10.6.60.71:8080/gbexcel/admin/Download.aspx?id=17

1) System board Req &1
2) RAMH

3) Microprocessor HTSh ITIRER
4) Power supply\[aggq 3mafd

Q 16) Which of the following allows us to navigate a long document through small pictures of each page?\ g

Y I &H Ui U8 b BIC ol o HIEH Y U Wi Slagc ol fATIe e i Sfgafdl &efl 82

1) Gridlines\red R

2) Document Map\@zlJTlP{ﬁ_c' Ay
3) Thumbnails\d&§-d

4) Draft\gI4c

Q 17) The following process determines the amount of memory present, the date/time, and which communications
ports & display adapters are installed in a microcomputer? \ Faferfad ufssan fagmm A9t & T, AR/

Y, 3R Ueb AI3h! HHLR H DI

1) Start up utility test\RETC 30 geiferdt o

2) Power on self test\UTaR AT Yo T

3) Power up boot process\UTdX 31U §c PIESES|

4) Power on start up process\UTdx 3 WTE 30 Uy

Q 18) Example for magnetic material used in data storage devices/ m & YSRU H Ugad IGO0 | Ugad
DI Ul BT IS0

L N WL ‘ P NNy
B e 1O e

A A | PO
1B Gk 36 ahen

1) 45 Permalloy /45 TRHAT
2) CrO2

3) Cunife/FAITH
4) Alnico /3Q®T

Q 19) Example for magnetic material used in data storage devices/ GTIEb_E'?f & HeRrur o Ugad ISR o Ugad
GBI JrHUT BT IS0

1) 45 Permalloy /45 TRHQAT
2) CrO2

3) Cunife/FATgH
4) Alnico /

Q 20) In an LC oscillator, the frequency of oscillator is L or C/UH TT I ala® ﬁ, TIdD B G‘I'Iq%f ud
Bk ?

1) Proportional to square of /@ & WHW

2) Directly proportional to/Icd& HTIHW
3) Independent of the values of/HIH UX Ak el

4) Inversely proportional to square root of/a"fﬂf’f & qu_cﬁ

Q 21) In the TV receivers, the device used for tuning the receiver to the incoming signal is/ <ot iR ﬁ,

G Rd & REaR &1 &F dxA & fog SuanT faar S arelt U H

1) Varactor diode/ NI TS

2) High pass Filter/8Ts UM fheex
3) Zener diode/SFR STATS

4) Low pass filter/al U flheeR

Q 22) In a J-K flip-flop, if J=K the resulting flip-flop is referred to as/ gfe S ffau-waa &, S =& al
10.6.60.71:8080/gbexcel/admin/Download.aspx?id=17 20/23



7/26/2019 10.6.60.71:8080/gbexcel/admin/Download.aspx?id=17

IRUTASEEY U frdu-weiig FUH SFET AT

1) D flip-flop/31 TGaU-TA1q

2) T flip-flop/ Tt fhU-TIq

3) SR flip-flop/THSR TTeT9-TATT

4) JK- MS flip-flop/Sidh-THTY [GT9-TaATT

Q 23) What dec1ma1 value is required to produce an output at X ?/ TR UR HT3cYc U4 R & forg fra
SR A BT STaRAH Bl 82

Q1§11 Q2

i ‘

HIGH
000 }
'I"

1
2)2
3)lord/1TT4
4)5

x

Q 24) The block D in the given diagram is/faq ¢ o & sl € %

Fig. Block Disgram of Computer

1) CPU /8ty

2) Control unit@a ?{ﬁ_c’
3) ALU/UUSY

4) Memory unit/FARY ?{ﬁ?

Q 25) Maximum length of DOS command using any optional parameter is/ foreht ot depfetres TRmftex &1 U
A U ST HHIS B MfepdH Tars B

1) 26 characters/26 &R
2) 87 characters/87 &R

3) 127 characters/127 &R
4) 256

Q 26) When you start up the computer the boot up storage at which the BIOS versions manufacturer and data are
dlsplayed on the monitor is called/ STd 3HTY W a'l?j\?lb_{?f % NISE gc 34 RS IR A TR Eﬁ\?ﬂgm
PR & AHfaT SR Se1 afkid gid

1) Bootstrap/gecy
2) Power on self test (POST)/QT?R 3 Ieh EE'(Cﬂ m
BIPIRR

3) System configuratio
4) Kernel loadlngm

Q 27) Which of the following is the fastest method to transfer large files such as video and audio from a

peripheral to the computer?/ sﬂﬁﬁﬁqmaﬁﬁﬁwﬁﬁaﬁ%ﬁ 3%? Ifffsar Hﬁ@mﬁmﬁ
RIFTART B BT TG A dIebT 82

1) Serial/ AT
2) Parallel/R@W
3) FTP/AGCIT!

4) IEEE 1394 firewire/3MT355% 1394 TRIRATIR

Q 28) The interactive transmission of data within a time sharing system may be best suited to/ HHI HTATHIUT
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YUl § ST BT HaTgTaid SRl & TN %A 8 IhaT g |

1) simplex line/Rrciay @rgq

2) full duplex line/gu GIERS]
3) half duplex lines/3{t] SRIRT AL
4) bi-flex lines/dTs-URIaT TS

Q 29) Which address is used in an internet employing the TCP/IP protocols?/ csiip 3”%‘3?' Uieidid ara
gee T oy U39 o1 ST foban oirar 82

1) physical address and logical address/fth ST a Q%H 3R dTforpd Qgﬂ

2) port address/AIC Q%ﬂ
3) specific address/ORIh® Qgﬂ
4) all of the mentioned/dg qoft
ILevel 2 Answer key
Question No. | Option
1 2
2 2
3 1
4 3
5 2
6 3
7 4
8 3
9 1
10 2
11 1
12 4
13 1
14 1
15 2
16 3
17 2
18 2
19 2
20 4
21 1
22 3
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23 4
24 4
25 3
26 2
27 4
28 3
29 4
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